e

demand in a developing

by i) Comment on the income
it} emand vallies c f three g roducts X, Y and Z referre
~2. 9 and 1.2 zfegpe@éﬁve@y&
products @?G name one appropriate example for
c) 2 sectors: agri

(M), and energy (E). @ghzﬂfﬁiﬂg y matrix for these three sectors is given below.

A M K
A [0.18 0.28 0.00°
M10.15 0.50 032
E 10.04 0.14 0.23

Calculate the external consumer dem@@n@ for each sector, if the estimated
production plan is 2@&89 units in agriculture sector, 389.04 units in
manufacturing sector and 185.59 units in energy sector.

i)  Determine the new production p?sn;, if the external consumer demand in

sk 4
e

nergy sector increases by 25 units. |

i
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Two motors are

motor draws a line current of 15 A at a power
second motor develops an output of 10 hp at a power factor

and efficiency @f 93%. A capacitor bank having three branches

connected in delta configuration is connected in p&mﬁe to the supply
,3 - N 5

factor of the system
I  before connecting the capacitor bank, and

Bri

efly explain how pov

conventional’.
What are the three ma

1 types of whater turbines used in hydro power plants
in Sri Lanka? Mention one plant for each type.
Draw the general arrangement of a storage type hydro power plant and
name the main components.

Discuss the environmental impact of a large scale hydro power project.

Itis %f@ﬁmed to install a 50 MW hydro power plant which will be operated

at its rated c apafﬁy for 500 hours per annum. The water reservoir has a
40.2 li:_t»?g? catchment average annual rain fall of 3550 mm. If the
overall efficienc f g;éiaﬂi is estimated as 85%, calculate the

minimum net head r the power plant.
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%/ﬂi@ﬁﬁ

lies Ej;;sfw TP

Wi*za{ isa @mbiﬂeé cycle power pmm

1

mﬁt& the condenser at the lowest possibl

Why it is %d&*wmﬂge@w to ope
pressure m e:%i?

14.0 Marks]

]

Briefly explain how variable load op a power station increases the overall

o

g@ﬁ@f@ié@ﬁ cost.
What are the factors that need to be considered when selecting base power

plants and ?aak er plants? Briefly explain whether you agree or not with
the present practice of power plant selection in Sri Lanka.

The equipment in a power station cost Rs. 45 million and has a salvage value
of Rs. 5 million at the end of 25 years. Calculate the annual depreciation
charge for the 3*d year using dmzmsﬁmg value method.
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